

ROUTING FORM FOR TASK ORDERS – CITY MANAGER'S APPROVAL

Project/Contract Number: Document Title: Department: Corresponding CAM #: Commission Date: Purpose: This Task Order is P11766 Sanitary Sewer Purpose	to provide geotechnical	ering R - 2 testing services	Attache	ed: 🔀 3 original			
	FUNDIN	IG INFORMATIO	N				
CIP Funded Project: Amount Required by Task Condex/Sub Object Code: Engineering Finance Approx	val Sign: P11760	No □ 9. 454 - 654 1. 5/28/1	15				
		Approved:	Disapproved:	Signature/Initials			
Herbert E. Stanley	7,551.076.0.	эзарргочеа.	Jighata Cymitiais				
Project Manager			\$ 5/19/15				
Scott Teschky	9		of 1 election				
Senior Project Manager			3/14/18				
Pedram Zohrevand, Ph.D., F	Ø	/ n	(21110 15/				
Engineer			Cappellag 139/5				
Hardeep Anand, P.E., Public Works Director			ella la thand				
APPROVAL ROUTING -FINANCE DEPARTMENT							
				10/7/0			
		Recommend Approyal:	Disapproved:	Signature/Initials			
Kirk W. Buffington, C.P.M.,	TA		h//				
Mik W. Dullington, C.F.W.,		Ц.					
	APPROVAL ROUTIN	IG – CITY ATTOR	NEY'S OFFICE				
	Approved as to form:	Disapproved:	Signature/Initials				
City Attorney			1/4/2 S				
	APPROVAL ROUTIN	IG – CITY MANA	GER'S OFFICE	WWW VIII			
	Approved:	Disapproved:	Signature/Initials				
Lee R. Feldman, ICMA-CM,							
		City Manager.	please route t	his form along with Task Or			
PW- Engineering, Kian Mova	faghi (Ext. 7818).	,	,	The state of the s			

PSI (PROFESSIONAL SERVICE INDUSTRIES, INC)	CONTRACT NUMBER:	636-11225	
1901 S. MYERS RD, 4TH FL	CONTRACT DESC:	2 YR CONTRACT FOR GEOTECHNICAL	
OAKBROOK TER, IL 60181		ENGINEERING & LABORATORY	
Phone: (954) 267-0965		CONTRACT - P11895	
Fax: (954) 267-0944	CC AWARD:	1/22/14,PUR-2,CAM#14-0112	
	UNIT COST:	\$200,000 CONTRACT CAP	
City of Fort Lauderdale	CITY CONTACT:	Herb Stanley	
100 North Andrews Avenue	PHONE:	(954)828-6801	
Fort Lauderdale, FL 33301	FAX:	(954)828-5074	
11766 Sanitary Sewer Pump Station D-37 Replacement	FUNDING SOURCE:	P11766.454-6599	
301 Lido Drive, Fort Lauderdale, FL	TASK ORDER DATE:	4/7/2015	
	1901 S. MYERS RD, 4TH FL OAKBROOK TER, IL 60181 Phone: (954) 267-0965 Fax: (954) 267-0944 City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, FL 33301 11766 Sanitary Sewer Pump Station D-37 Replacement	1901 S. MYERS RD, 4TH FL OAKBROOK TER, IL 60181 Phone: (954) 267-0965 Fax: (954) 267-0944 CC AWARD: UNIT COST: City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, FL 33301 CITY CONTACT: PHONE: FAX: 11766 Sanitary Sewer Pump Station D-37 Replacement FUNDING SOURCE:	

SUMMARY OF WORK:

Provide geotechnical testing services for Task Orders issued under P11766 Sanitary Sewer Pump Station D-37 Replacement

BILLING RATES INCLUDED IN CONTRACT							
ITEM#	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE		
	MODIFIED PROCTOR (ASTM D1557)	2	EACH	\$100.00	\$200.00		
	ORGANIC CONTENT DETERMINATION (ASTM D2974)	2	EACH	\$35.00	\$70.00		
	PARTICLE SIZE DISTRIBUTION (ASTM D6913)	2	EACH	\$60.00	\$120.00		
	FIELD DENSITY DETERMINATION (ASTM D2922) (EA) MIN 4 TEST PER TRIP	56	EACH	\$25.00	\$1,400.00		
	COMPRESSIVE STRENGTH DETERMINATION OF CONCRETE CYLINDERS (ASTM C39) -4X8" CYL (EA)	8	CYLINDER	\$15.00	\$120.00		
	SLUMP TEST (ASTM C143)	2	EACH	\$10.00	\$20.00		
	TRIP CHARGE TO COLLECT SAMPLES	3	TRIP	\$45.00	\$135.00		
	ENGINEERING TECHNICIAN	24	HOUR	\$45.00	\$1,080.00		
	SECRETARY / CLERICAL	2	HOUR	\$45.00	\$90.00		
, , , , , , , , , , , , , , , , , , , ,	REGISTERED ENGINEER	2	HOUR	\$100.00	\$200.00		
					\$0.00		
				-	\$0.00		

Total Bid Price Included in Contract: \$3,435.00

Professional Service Industries, \$^6.

Contractor:

Authorized Signature

Date:

CHRIS ANDREONI - BRANCH MANAGER

Print Name and Title

Scott A. Teschky, CCM, LEEDAP BD+C Senior Project Manager Hardeep Anand, P.E., Director of Public Works Kirk W. Buffington, C.P.M. Director of Finance

By:

LEE R. FELDMAN, City Manager

2 of 2

PROFESSIONAL SERVICE INDUSTRIES, INC.

RESOLUTION

Pursuant to the authority given to Mark Weiland, Secretary, by Professional Service Industries, Inc. (the "Corporation") Board Resolution dated November 29, 2011, the following resolution was passed at a formal meeting in Oakbrook Terrace, Illinois on the below date:

BE IT RESOLVED Chris Andreoni, Branch Manager of the Corporation, in the normal course of his duties and responsibilities as assigned by the Corporation, is empowered to execute in the name of and on behalf of the Corporation contracts (including any related documentation or certifications included in the contract documents) for professional services with City of Fort Lauderdale, known as the "Organization"

BE IT FURTHER RESOLVED, that the foregoing authority shall be and continue in full force and effect until revoked or modified by written notice. Said Organization is hereby authorized and directed to at all times rely upon the last notice received by it or any resolution as to the foregoing authority when such notice bears this Corporation's Seal and is signed by one purporting to be its Secretary.

AND BE IT FURTHER RESOLVED, that the Secretary of the Corporation is authorized to certify under the Corporate Seal of the Corporation, and said Organization is hereby authorized to rely upon such certification of the Secretary of the Corporation until it is formally advised of any changes therein by a subsequent certificate and under the Corporate Seal.

IN WITNESS WHEREOF, I have affixed my name as Secretary, and have caused the Corporate Seal of Professional Service Industries, Inc., to be hereto affixed, this 30th day of December, 2014

Mark Weirand Secretary SEAL WAS STRIFF

PSI-14-649